= % 3x%y + 6xy 9] Ap=?

D 2y @3(x+2) @ x*+2

@ xy+2 © 3x?

(F4) = 3x (ay +2) = 3y (x +2)




ohe 5 Ao] SAABAD 0, a+ b o G Ftelek (ha>0)

Ox2 +ax+1, 4x2+8x+b

=
H -

>
> A a+b=10

B ,

9x2 +ax+1=(3x+1)
a=2%Xx3%X1, a=6

4x2 4 8x+ b = (2x + 2)°
b=2%b=4

L a+b=6+4=10




3. a?—4p? 2 ASEotA?

@ (a-2b)* @(a+2b) (a —2b)
® (a+b)(a-4b) @ (a+2)(h-2)
® (a+2b)?

a? - 4b® = a? - (2b)?
= (a+ 2b) (a - 2b)




O x2-3x-4=(x-1)(x+4)

@) -4x+3= (x-1)(x-3)

® x? - 8xy —20y? = (x - 2)(x + 10y)
@) + 130y + 222 = (x + 2)(x + 11)

® x* +5xy = 6y* = (x +y)(x — 6y)

@ (x+1)(x—4)
® (x+ 2y)(x—10y)
® (x—y)(x+ 6y)




2a—b) (—3c - 3d) =

—6ac+[  |+3bc+3bd A |t

(2a — b) (=3¢ — 3d) = —6ac — 6ad + 3bc + 3bd




® ma+ mb—-m=m(a+b)

@) 6402 + 32ab + 4b* = (8a + 2b)?
® -4a® + 9b* = (2a + 3b)(2a - 3b)
@ x*-5x-6=(x—-2)(x-3)

® 2x% = 5xy + 3y* = (x - 3y)(2x ~y)

B

@ ma+mb-m=m(a+b-1)
® —4a® + 9b* = —(2a + 3b)(2a — 3b)
@ x?-5x—6=(x—6)(x+1)
® 2x% - 5xy 4+ 3y? = (2x - 3y)(x - y)
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x?+5x+a=(x+b)? N a-b 2 F2?

15
©F

X2 4+ 5x +a = x% + 2bx + b?

5
2b=05, b= —
2

25

=p2 ===

a 4
15
a-b=—




9. 2xX2-5x+2=2x-A)(Bx-C) & W, A+ B+ C 9] 3= Foto=}

> E.

[> Hetl A+B+C=14

B ~
2x% = b5x+2=(2x—1)(x—2)
(2x-1)(x-2) = (2x-A)(Bx-C)°| B2
A=1 B=1,C=2
LA+B+C=1+14+2=4




10.

6x* - 17x—A 7t x -3 & & 7Hd o, e 55

> E.

> Hehl 6x+1

sholat,

B

o2 Ql4E gx + b} 51H

(ax+b) (x-3) = ax*> + (b -3a) x — 3b
=6x2 — 17x — A A]

a=6

b-3a=-17, b=1

oA OhE Qg x4+ 1




11. % ol

Fstoler.
=F

>
> H=eh: x+1

~&B

xy+x+y+1, 2—xy+x-y ol FFOZ F0]

xy+x+y+1l=x(y+1
=(x+1)

P-xytx-y=x(x-y
=(x+1)

+y+1
+1)
+x-y

)
(y
)
(x=y)




@D x2-6x+9 @ 4x% 1 16x - 16
@ ¥+ 12x + 36

@2x2 +4xy+ 4y2
® 2+ duy + 4y

@20 +dxy + 47 = 27+ doy + 47 + 7

= (x_|_2y)2 _|_x2




x* =5x+ A, 4% + Bx+ 4 7} A0 oA Al A o] H s

sh AB] gk Tatelet (9, B <0)

> E.

[> ®eh: AB= -50

B

x> =5x+A=(x+a)(x+a)
at+a=-5

5
a=-3

25

..A:a2=Z
4x2 + Bx+4 = (2x+b) (2x + b)
b2 =4, b= =2
B=4b
. B=4b=-8(B<0)

" AB= 7" % (-8) =50




Lot x 91 AR el

wiel

Tod

x4+ 2

‘ T Go]2 mE x2 - 40|22 (x4 2)(x - 2)




(x-[]?

x2—2x—|—|:|

‘ xX2-2x+1

® 3 @ 4 ® 5

@ 2

(x=1)2




